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1(a) | KS2-N1-1 [0/ % 1 RS NF
1(b) | KS2-N1-1 | 2000 / = + 1 YR R
2 KS2-N2-1 | D 1
3 KS2-N2-2 | 1> 3> 19 57 1 ¥ A
4 KS2-N2-4 | 60 1
5 KS2-N2-5 | 30 1
6(1) | KS2-N3-2 | 35 1
6(2) | KS2-N3-2 | 8 1
7
7 KS2-N3-1 | 15 1
8(a) | KS2-N3-3 15—8 1
7
8(b) | KS2-N3-3 | 65 1
9 KS2-N3-5 | C 1
10 KS2-N5-1 | 1320 1
11 KS2-N4-1 | 3.04 1
12 KS2-N4-2 | D 1
13 KS2-N5-1 | C 1
14 KS2-N5-1 | 2 1
1
15 KS2-N5-1 | 75 1
16 KS2-N5-2 | 13.2 1 * % 13.20
17 KS2-N5-2 | 1.4 1
18 KS2-N5-3 | 30 1
19 KS2-N3-2 g 1
20 KS2-N5-3 | & & 7 3 & £ :
5 5 1 1 £ A - B T B el R
35 + (35 - 1% ¥ i ‘
g * (3g ~ 15 L r s
. (kg) 1:* & (%Y &)
1 17 [ aar (7 st
21 KS2-N5-5 | & & 1
22 KS2-N5-4 | 900 1
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23 KS2-N5-5 | i 4 :
82.8 + 60 - 24.2 1 EIF N I U A SPE:
I
=1186 (=) /118 ~ 6 & | 1 | #&» C %% &30)
1 g (7 Rt g
24(a) | KS2-N6-3 | 0.33 1
24(b) | KS2-N6-3 | 0.5/ % 1
25 KS2-N6-1 | 65 1
26 KS2-N6-4 | 70 1
27(a) | KS2-M5-5 | mL/ml/ % = 1 R T
27(b) | KS2-M5-5 | mL/ml/ % & 1 PR SN F
28(a) | KS2-M2-2 | B T ® = » 6,12 1 EN S A
28(b) | KS2-M2-4 | ix = 3 04 12 1 2HEA LA
29 KS2-M4-1 | C 1
30 KS2-M6-3 | B 1
31 KS2-M7-3 | 275 1
32 KS2-M8-4 | 20 1
33 KS2-M8-2 | 500 cm?® 1
34(a) | KS2-M2-3 | 20 1
34(b) | KS2-M9-2 | T35 F &
2400 + (20 x 60) 1 IR A H WD R R
=2 (m/s) o EER
. Lo|EESC wEARE)
P 2Es (0 5T EL)
2400+ ((a)3n e ¥ % x 60)
=2(m/5s)
&
T o g
2.4+&
60
= 7.2 (km / h)
35 KS2-M5-2 | 3 1
36(a) | KS2-S2-1 | = if 1 PREE ST
36(b) | KS2-S2-1 | B & [ % 3§ | 1
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37(a) | KS2-S2-2 | C 1
37(b) | KS2-S2-2 | B F 1 ESS S o B
37(c) | KS2-S2-2 | A- D 1 ESS S o B
38(a) | KS2-S5-1 | =# 1 PR F
38(b) | KS2-S5-1 | X & 1 PR F
38(c) | KS2-S5-1 | /] % 1
39 KS2-Al-1 | 5A + 8/ 8 + 5A 1
40 KS2-A2-2 % 1
2
41 KS2-A2-2 | £ /0.4 1
42 KS2-A2-3 | % - %I & ¥ & x = -
3x + 25 =4x 10 1 EIEAPANHE SN R S
3x = 40 - 25 S
X =5 1 E3xs (0 %3 @)
S EmsER@s5A. | b | FEA (T FEIEE)
43(a) | KS2-D1-2 | == % 60> 10> 30> 20 1 ESS o
43(b) | KS2-D1-2 | i#= % 100:0-0:0 1 E i B
43(c)(1) | KS2-D1-2 | Bt T2 ¢ | 1
BT R R AR 23 ISR =N G ER A 1 A
43(c)(2) | KS2-D1-2 | Kt e H %\@ﬁp}rgj 1 X
=% % 340> 210 170>
- - ! -"‘ “l‘ N\
44(a) | KS2-D2-2 | 400, "5aq 1 ES S I
44(b) | KS2-D2-2 | 3§ 2 &k g 1 e s aitigs VB
EIgp o) EG T E LK
EE, 2 TRER D A F
B irHAB L Bend B A 1 BT 281 %40 %
13 Q)30 ik B s ch R 0T BB AR rIEHRE - RO X
3 F AR gy g
45 KS2-D3-1 | 8 1
B BEA () RFEN (PR FFLIEEX TRERAS -
(2 & (3 ) G B REFR
Q) B (*4) dyhERAE T} LERI MO THERAL -
THREA (D) EN () DAE R EABE THAES o
(2 B (P4) % 2% 42EL -
(B) 2L ¢ RET 2 FRE - B8 (WEH) EFWLAR
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